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1. Air pressure is represented on map by :

(A) Isotherm lines
(B) Isobar lines
(C) Isolines

(D) None of these

2. What will be air pressure if temperature is high ?

(A) Low
(B) High
(C) Moderate

(D) Veryhigh

3. The Tornadoes are very strong tropical

cyclones originating in :
(A) Caribbean Sea
(B) China Sea
(C) Arabian Sea
(D) Black Sea
4. Air pressure is lowest in :
(A) Winter season
(B) Spring season
(C) Autumn season
(D) Summer season
5. Horse latitude is extending between :
A) 5-10°
(B) 25-30°
(C) 60°-65°

(D) None of these
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10.

Where is Great Salt Lake located ?
(A) USA.
(B) India
(C) China

(D) Turkey

Which of the following is a cold current of the 7.

South Atlantic Ocean ?

(A) Canary current

(B) Kuroshio current

(C) Benguela current

(D) Gulfstream current
Sargasso Sea is located in :
(A) South Atlantic Ocean
(B) North Atlantic Ocean
(C) Mediterranean Sea
(D) Pacific Ocean

Which of the following is a warm current ?
(A) Falkland current

(B) Brazil current

(C) Labrador current

(D) Canary current

Progressive Wave Theory is propounded by :

(A) Laplace
(B) R.A.Harris
(C) William Whewell

(D) G.B.Airy
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11. Which of the following layers is the uppermost 1. e @t § @ Se-a1 agavsa &l

atmospheric layer ? T I WA & ?
(A) Toposphere (A) &S
(B) Thermosphere (B) dAMHTSEA
(C) Mesosphere (C) H&gHUSA
(D) Stratosphere (D) E@HAHTSS
12. All the weather phenomena occurs in which of 12, &W&d Hreel geAd f=ifoiaa argrved
the following atmospheric layer ? fpe oxa & gfeq &t € ?
(A) Mesosphere (A) AETHTSA
(B) Toposphere (B) &rwwosd
(C) Stratosphere (C) THAUHTSH
(D) Thermosphere (D) dmMHTSH
13 Which gas has a maximum percentage in the ~ 13.  agAvsq § Rpe 9 &1 Mo st
atmosphere ? g7
(A) Carbon (A) &
(B) Nitrogen (B) g
(C) Oxygen (C) ferdrST
(D) Hydrogen (D) G
14, The quantity of water vapour in the atmosphere 14, aTgdvsd # SHqArSq HI HIAT Bl
is : L
A) 1% (A) 1%
(B) 2% (B) 2%
(C) 1-5% (C) 1-5%
(D) 5-10% (D) 5-10%
15.  The ozone layer lies in : 15.  oN9IN WXq Ul SR R
(A) Troposphere (A) &rose |
(B) Mesosphere (B) AeAwEEq H
(C) Ionosphere (C) maTved H
(D) Stratosphere (D) GHaIHTEA H
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16.

17.

18.

19.

20.

Harmattan is a local wind of : 16.

(A) Northern India
(B) Switzerland
(C) Eastern Sahara
(D) Alps Mountain

Name the wind which changes its 17.

direction according to the season :
(A) Monsoon

(B) Chinook

(C) Loo

(D) Mistral

The circulation of Jet stream is : 18.

(A) From East to West
(B) From North to South
(C) From West to East
(D) From South to North

Which one of the following streams is notatype  19.

of Jet stream ?

(A) Polar front Jet stream

(B) Subtropical westerly Jet stream
(C) Tropical easterly Jet stream

(D) Temperate northerly Jet stream

Which of the following air masses is not a  20.

principal type according to their location ?
(A) Continental polar air mass

(B) Equatorial air mass

(C) Maritime polar air mass

(D) Continental tropical air mass
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21.

22.

23.

24.

25.

The height of the ozone layer above the surface  21.

of the earth is :
(A) 15-35 km.
(B) 40-50 km.
(C) 5-10 km.

(D) 50-60 km.

Wireless communication is reflected to the  22.

earth's surface by :
(A) Troposphere
(B) Stratosphere
(C) Tonosphere

(D) Exosphere

The distance from the earth to sun is : 23.

(A) About 93 million miles
(B) About 100 million miles
(C) About 150 million miles

(D) About 50 million miles

Which one of the following reflects more  24.

sunlight as compared to the three ?
(A) Sand desert

(B) Paddy cropland

(C) Land covered with fresh snow

(D) Prairie land

Energy comes on earth is called : 25.

(A) Solar Radiation
(B) Insolation
(C) Terrestrial Radiation

(D) None of these
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26. Mississippi delta is a best example of : 26.  fofeferdt Scer uw oET TEEIT R ¢

(A) Bird-foot Delta (A) TER-UST ST H
(B) Abandoned Delta (B) Ree SweT &
(C) Blocked Delta (C) STaRIted Swer &l
(D) Estuarine Delta (D) SETCTEHEl Sel &
27. Which of the following is not a Meander ? 21,  frafoied & @ @9 s faad 78 ® ?
(A) Simple Meander (A) gEr fererd
(B) Ideal Meander (B) omest ey
(C) Misfit Meander (C) sma fawd
(D) Incised Meander (D) Ste:apfa ey
28.  The formation of Inselberg is due to : 28. TR S B GGE FR ©
(A) Erosion by Wind (A) e g STueEd
(B) Deposition by Wind (B) o+ &I f¥&aor
(C) Transportation by Wind (C) e &I uRaed
(D) None of these (D) 378 | HE &
29.  Which of the following landforms is not formed ~ 29.  fr=ififed & &9t § ¥ S9-91 @9 8N
by wind ? ffifa @t e e @ °
(A) Zeugen (A) S
(B) Yardang (B) IS
(C) Sand dunes (C) Sgenr &9
(D) Beaches (D) &=
30. Loess is a landform developed by : 30. AT A G H B B @
(A) Wind deposition (A) e Eqer g
(B) Wind erosion (B) 9o UG &
(C) River erosion (C) |RAT WA &N
(D) Glacier deposition (D) feAm F&aTeT g/

GEOG./A110101T-C/8235 (8)



31.

32.

33.

34.

35.

Tropical cyclones in Japan are called : 31.

(A) Taifu
(B) Baguio
(C) Tornado

(D) Hurricane

Tropical cyclones in China are locally  32.

called :

(A) Storm surge
(B) Hurricane
(C) Tornado
(D) Typhoon

The higher temperature in the CBD or city  33.

center is called :
(A) Warm Island
(B) Cold Island
(C) Heat Island

(D) Snow lIsland

Cirrus clouds are found : 34.

(A) Between 0-2500 m. height

(B) Between 2500-6000 m. height
(C) Between 6000-20000 m. height
(D) Above 20000 m. height

Which one of the following is not a type of  35.

rainfall ?

(A) Convectional Rainfall
(B) Orographic Rainfall
(C) Cyclonic Rainfall

(D) Continental Rainfall
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36.

37.

38.

39.

40.
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The landforms built by deflation work of wind
is

(A) Sand dune

(B) Deflation Basin

(C) Loess

(D) Pediments

U-shaped valley is formed in :
(A) Karst Region

(B) Flood Region

(C) Glacial Region

(D) Desert Region

Which of the following lakes is not formed by

Glacier ?

(A) Great lake

(B) Grand lake

(C) Wular lake

(D) Naina lake

Cirques is formed by :
(A) River

(B) Wind

(C) Glacier

(D) Underground water

Which of the following landforms is not formed

by Glacial erosion ?
(A) Hanging valley
(B) Horn

(C) Tarn

(D) Drumlin
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41.

42.

43.

44,

45.
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India gets maximum rainfall mainly from : 41.

(A) North-East Monsoon
(B) Retreating Monsoon
(C) South-West Monsoon

(D) Convectional Rainfall

Among the following places which one gets the ~ 42.

least rainfall ?
(A) Leh

(B) Bikaner
(C) Jaisalmer

(D) Barmer

The average depth of water over continental ~ 43.

slope varies between :
(A) 200 m. to 2000 m.
(B) 0 m.to200 m.

(C) 2000 m. to 6000 m.
(D) 6000 m. to 10000 m.

Which of the following trenches is deepest in  44.

the world ?
(A) Tonga
(B) Swire
(C) Puerto Rico
(D) Challenger

The salinity of sea water is directly/positively ~ 45.

related to :

(A) Temperature

(B) Sea water density
(C) Sea water pressure

(D) None of these
(11)

IR & Jgea: Faifyes aut ek @ ¢

(®) Sed-gdt A |

(B) redt AFTEA &

(C) wfil-uf¥erft qFET &
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(D) rEAY
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g

(A) 200 5. & 2000 5. & wex

(B) 0. | 200 . & HH
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46.

47.

48.

49.

50.
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The Great Barrier Reef of corals is located in : 46.

(A) Indian Ocean
(B
(C
(D

) Pacific Ocean
) Atlantic Ocean

) Arctic Ocean

Which one of the following is not a Biotic ~ 47.

Component ?
(A) Plant
(B) Animal
(C) Soil
)

(D) Micro-organisms

A life supporting layer which surrounds the earth ~ 48.

and makes possibility of plants and animal life

is called :
A
B

Biosphere

— =

Geosphere

(
(
(C) Atmosphere
(

D) Hydrosphere

Ecology is a science which studies  49.

interrelationships :
(A) Between Abiotic and Biotic components
(B) Among biotic components

(C) Both (A) and (B)

(D

) None of the above

Which one of the following is not a tropical ~ 50.

biome ?

A) Tropical Forest

C) Desert

(A)
(B) Savanna
€
D)

D) Alpine Tundra

(12)

yaratay @ I SRex dw oafed R -
(A) &< "eErR |

(B) G HETENX |

(C) FEHEEFR H

D) SThfes HeErR H

frefoied & & @9 & Jfoe dacsh ol
g7
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(D)

)
)
)
)

(C) qFTF (A) X (B)
Sw & A g A
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51.

52.

53.

54.

55.
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Which one of the following is not a sedimentary ~ 51.

rock ?

(A) Slate

(B) Sandstones
(C) Limestones

(D) Conglomerate

Which one of the following is a metamorphic ~ 52.

rock ?

(A) Basalt
(B)

(C) Gneiss
D)

Granites

Diorite

Original rock of diamond is :
(A) Sandstone

(B) Granites

(C) Coal

(D) Limestone

The connecting plane between two  54.

consecutive beds or layers of sedimentary rocks
is called :

(A) Paraconformity

(B) Bedding plane

(C) Cross bedding

(D) Conformity

Which one of the following is not a Igneous rock ?
(A) Basalt

(B) Gabbro

(C) Gneiss

(D) Dolerite

(13)

53.

95.

frfafed & § @ oh sEEE @gM Tl
g7

(A) ®e

(B) ST TR

(C) T WX

(D) &iIEE
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56.  Which of the following is not related to  56.  f=foifad & & HF-A1 A=k U FHI

mechanical weathering agents ? et =7Ef ® ?
(A) Frost (A) SEINE
(B) Insolation (B) dm@
(C) Vegetation (C) ategia
(D) Moisture and Water (D) ST=dT U@ ST
57.  Chemical weathering agents is/are : 57. EMENe oTuEy Siedl §/%
(A) Oxygen (A) SRS
(B) Carbon dioxide (B) FE SRS
(C) Hydrogen (C) T=gIoH
(D) All of the above (D) ST @t
58. Maximum effect of oxidation is : 58. RN 1 Talfed T B © ¢
(A) On Iron Minerals A) A gEt )
(B) On Granite Rocks (B) IEE =gl W
(C) On Limestone (C) LM e W
(D) On Basic Igneous Rocks (D) I A =gl T
59.  Who propounded the concept of cycle of 59.  STURGT THp Pl GHIT H UG [hes
erosion ? foar ?
(A) James Hutton (A) = &L
(B) Gilbert (B) e
(C) W.M. Davis (C) s=g.1H. sfa|
(D) W. Penck (D) =Y. T
60. Who said that, 'A landscape is the result of ~ 60.  fhE" &l o {4, ‘T WP G=, FhH
structure, process and stage' ? Tg Saer H ufawd & °
(A) W.M. Davis (A) s=g.w. |
(B) W. Penck (B) S=4. T
(C) R.J. Chorley (C) SRS, O
(D) None of these (D) 378 | g &

GEOG./A110101T-C/8235 (14)



61.

62.

63.

64.

65.
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Who was the propounder of 'Sliding Continents ~ 61.

Theory' ?

(A) R.A.Daly

(B) J.W.Gregory
(C) Alfred Wegener
(D) Arthur Holmes

Which of the following theories is given by Arthur ~ 62.

Holmes ?

(A) Continental Drift Theory
(B) Convection Current Theory
(C) Sliding Continents Theory

(D) Thermal Contraction Theory

Who among the following used the term Plate  63.

for the first time ?
(A) Tuzo Wilson
(B) Morgan

(C) Alfred Wegener

(D) Lowthian Green

J.H. Pratt was related to : 64.

(A) England
(B) France
(C) India

(D) Germany

The instrument measuring earthquake is called :  65.

(A) Climograph

(B) Seismograph

(C) Hythergraph

(D) Eidograph

(15)

‘Teraig TEeq e @ gfode e
fopar ?

(A) STXT. A
(B) .3=g. I
(C) TS T
(D) M B

1 § 9 -ar faerg oM @ X
faar ?

(A) HETEg Yare & R
(B) HaeT ORI &=
(C) HeTEiig Teer & =T
(D) TG HegEe & R

frffad #§ & fhae damem we 9= @
T o ?

(A) gt foreet

(B) ®FA

(C) TS AT

(D) R I
3.0, gre wErad & ¢
(A) gve |

(B) wi@ &

(C) wRa &

(D) ST &

TR F bR Q
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66.

67.

68.

69.

70.
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Which of the following is not a type of volcano  66.

on the basis of periodicity of eruptions ?
(A) Active volcanoes

(B) Strombolian volcanoes

(C) Dormant volcanoes

(D) Extinct volcanoes

Which one of the following is a dormant  67.

volcano ?

(A) Koh Sultan
(B) Pinatubo
(C) Visuvious

(D) Mayon

Topography produced by vulcanicity is : 68.

(A) Craters
(B) Gorges
(C) Canyons
(D) Inselbergs

Which of the following rocks is called primary ~ 69.

rocks ?

(A) Sedimentary rocks
(B) Metamorphic rocks
(C) Horizontal rocks

(D) Igneous rocks

In Peninsular India, the rocks found are : 70.

(A) Igneous rocks
(B) Sedimentary rocks
(C) Metamorphic rocks

(D) Marble rocks

(16)

SR & A & R W F=fofed § @
PN TAAIE H THR el o 7

(A) ST e

(B) Erifera STl

(C) TS STt

(D) = e

frefafad & & @9 % gga sanger
g7
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FEl A B 7

(A) STl =g

(B) IR T
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(B) @l =g

(C) TuriRd =g

(D) HTRAX =g



1.

72.

73.

74.

75.
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Which of the following is not a subject-matter of ~ 71.

Physical Geography ?

(A) Lithosphere/Geomorphology
(B) Atmosphere

(C) Hydrosphere

(D) Demosphere

In which era Dinosaurs were developed ? 72.

(A) Palaeozoic
(B) Mesozoic
(C) Cenozoic

(D) Cryptozoic

Which of the following planets is known as  73.

'Morning Star' ?
(A) Mercury
(B) Venus

(C) Mars

(D) Saturn

Which is the chief heavenly body of solar  74.

system ?
(A) Earth
(B) Sun

(C) Vesta

(D) Trumpler

In order of their distance from the sun, which ofthe ~ 75.

following planets lie between Mars and Neptune ?
(A) Earth

(B) Mercury

(C) Saturn

(D) Venus
(17)

ot 3 & e e e 1 P
37
(A) EIHST

(D) ST¥HYSA

g7

(A) 3o
(B) TP
(C) et
(D) i+

AR TUed & YOH T fUve dM-am
g7

(D) ¥R

o & T g 3w §, Frefiad m
q B WA 0 qe9T b 7 R § 7

(A) gt

(B) 38

(C) i

(D) I
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76.

7.

78.

79.

80.

GEOG./A110101T-C/8235

The age of earth according to Indian Religious  76.

Books is :

(A) 2 Crore years / 200 Million
(B) 2 Billion / 2000 Million years
(C) 2 Million years

(D) 0.2 Million years

The entire mechanism of the evolution, nature 77.

and motion of plates and resultant reactions is

called :
(A) Plate Tectonics
(B) Plate Boundary
(C) Dodecahedron
(

D) Tetrahedron

In which of the following areas most of the  78.

earthquakes come ?
(A) Circum-Pacific Ocean belt
(B) Mediterranean Sea belt
(C) Atlantic Ocean belt

(

D) Indian Ocean belt

The place situated on the earth's surface,  79.

where earthquake felt first is called :
(A) Epicentre

(B) Centripetal

(C) Earthquake Centre
(

D) None of these

Chief cause of volcanic origin is/are : 80.

(A) Temperature increasement in interior

B) Origin of Lava

D

(B)
(C) Expansion of Gases
(D) All of the above

(18)

ARG Il & AR Yl @l oy
%:

A) 2 FE T

(B) 2 o« ay

(C) 20 e &

(D) 0.2 TrE a¥

Ol & T RO Siihar el S
g

(A) Qe faadfe

(B) wiT €

(C) ETesTHeTH

(D) TJuIEE

fr=fcifrd & @ waifas = e 8 7 o
g7

(A) IR-JAT FEEFRE Ut

(B) @A Ul

(C) g WeErFRE Ut

(D) f= WemEriE U

g & e W R a8 fag STt wawed
T STIWE R ST &, Fee ©

(A) STE=

(B) b=

(C) T =

(D) &7° | #8 T&

S IR B TG FROT 8/3 -
(A) g § A s

(B) W@T M I

(C) ¥t @ e

(D) ST |l



81.

82.

83.

84.

85.

GEOG./A110101T-C/8235

Which of the following is not a characteristic of ~ 81.

Geosynclines ?

(A) Formed by strong compressive forces
(B) Long, narrow and shallow depressions of water
(C) Gradual sedimentation and subsidence

(D) Mobile zones of water

Which of the following is not included in  82.

orogenetic movements ?
(A) Folding

(B) Faulting

(C) Wraping

(D) Subsiding

The upfolded rock strata in arch-like landform  83.

is called :
(A) Folding
(B) Anticline
(C) Syncline
(D) Dip

Which of the following is a resultant of Rift ~ 84.

Valley ?

(A) Faulting
(B) Folding
(C) Wraping
(D) Nappe

Folds are developed by : 85.

(A) Expansion

(B) Tension

(C) Contraction

(D) Erosion

(19)

e & & - qaa &
T E?

(A) saa ddisT @ g/ FiHa

(B) T, THU T IUA A GEG

(C) FR=R qaed™ ST wd e

(D) I & o &

frfafed & @ &9 TF wEdE Heew J
Hfaferd & 8 ?

(D) SAqce=

T B GEL B HeTd HgR HW IS g
S B H FE © -

(A) T

(D) /A=

frifeiad & & el T dr 91l aRem
g7
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86.

87.

88.

89.

90.

GEOG./A110101T-C/8235

In which stage of cycle of erosion, vertical  86.

erosion does not take place ?
(A) Old age

(B) Mature age

(C) Youth age

(D) Child age

How many stages are there in the cycle of  87.

erosion as propounded by W.M. Davis ?
A) One

B) Two

C) Three

(
(
(
(D) Four

Which of the following is not a sequent drainage ~ 88.

system ?
(A) Subsequent streams
(B) Antecedent streams
(C) Obsequent streams
(

D) Resequent streams

The origin and development of streams through ~ 89.

time is called :
(A) Drainage Pattern

(B) Dendritic Drainage Pattern
(C) Pinnate Drainage Pattern
(

D) Drainage System

Which of the following rivers is not an example  90.

of antecedent streams ?
(A) Sutlej river
(B) Ganga river
(C) Asan river
(D) Gandak river

(20)

HAYTE <k I [ e § e I
F R e A B 7

(D) STcEErEe

e=xY.0H. S g Hfuied Stove =6 §
ot oTreemd 2kl § 7

(A) T

(B) &

(C)

(D) =}

fr1 & § &9 ©% FRl ouER o el
g7

(A) SRt |Rar

(B) et wfem

(C) Hferergach |Ran

(D) ergatt e

RAA & IART TG b THI & 9y faeere
PN FHET AT &

(A) JT9dETE e

(B) URUERR YA SidEq

(C) TgHT HudE Hfceq

(D) STqare o

frferad & & SF-81 T8 0% gEad a
P I el © ?

NISSEIREY

(B) I =t

(C) T eI

(D) TUeH Tar



91.

92.

93.

94.

95.

GEOG./A110101T-C/8235

'Supernovais : 91.

(A) AnAsteroid
(B) ABlack Hole
(C) AComet

(D) ADying Star

Which of the following is known as most dense ~ 92.

layer of the earth ?
(A) Crust

(B) Mantle

(C) Core

(D) Magma

The earth completes one rotation on its axis : 93.

(A) In 24 hours
(B) In 25 hours
(C) In 23 hours 58 minutes

(D) In 23 hours 56 minutes and 4 seconds

Which elements are abundant in the formation 94,

of interior layer of the earth ?
(A) Silica and Aluminium
(B) Nickel and Iron (Fe)

(C) Silica and Magnesium

(D) Basalt and Silica

The density of middle layer (Sima) of the earthis:  95.

(A) 241029
(B) 291047
(C) 10
(D) 11.6

(21)

G ©

(A) T BT aW

(B) TH el o

(C) Th gAhg

(D) TF WA A a

=1 | | 58 oot it E98 o G & &9
¥ S ST § ?

gl o 8 W T TRt O B ¥
(A) 24802 §

(B) 259ue #

(C) 23 que 58 fiFe ¥

(D) 23 g9 56 e Td 4 ¥%°E H

Ted &l I TRa & WHoT & 6wt
e © 7

(A) it Td Tt

(B) M wd arer

(C) foferm wd H=iiterm
(DEGICRCHEIRE

g % W WA () @ e ©
(A) 247 29

(B) 29% 4.7
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96.  MountAbu region is a best example of : 96.  HISUC 3 UG & U dgd 3TeRl Salel § -

(A) Trellised Drainage pattern (A) STRIGAT ST9aTe i@y &
(B) Dendritic Drainage pattern (B) URURBR 319dTE Uiy H
(C) Rectangular Drainage pattern (C) GBI 3YYare Ufcreq
(D) Radial Drainage pattern (D) SIHE AR UET H
97.  Which of the following landforms is not related ~ 97.  Fr=ifeiRad & | Reer Sl & Ty el &
to the works of river ? FE H T B 7
(A) Waterfall (A) STeIUrd
(B) Barkhan (B) =@
(C) Oxbow lake (C) Mg 3T
(D) V-shaped valley (D) ‘Gt SR &t =t
98.  Landform formed in the old age of river is 98, TGl %I JETEEN T I €A €Y FHEATI
called : L
(A) Delta (A) T
(B) Gorge (B) st
(C) Canyons (C) B
(D) Waterfall (D) STty
99.  The world famous canyon is formed by : 99.  fasg wiees i & Feior gom B ¢
(A) Nile River A i & Ew
(B) Amazon River (B) ST W&l &I
(C) Indus River (C) f&ryg =&t &
(D) Colorado River (D) PANS T& FW
100.  Dudhsagar waterfall is located in : 100.  GHEFR SIHU SaRed ©
(A) Tamil Nadu (A) dfeTg |
(B) Madhya Pradesh (B) A&7 uasr H
(C) Rajasthan (C) Vo #
(D) Goa (D) Tt ®

GEOG./A110101T-C/8235 (22)
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Example :

Question :

Q1 ® @ © ©
Q2 ® ® @ ©

Q3 ® @ © ©

4, Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question

Booklet.
8. There will be no negative marking.
9. Rough work, if any, should be done on

the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

1. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

JeTe T

RS

91 @ @ © ©
w2 @ ® O
w3 ® @ © ©

4. U U & ik TN §| oMUD Ria I
eI B, Il & APAR &b T [l ST

5. Tl I B AToTHORo  ITL-UFH
(OMR Answer Sheet) ® & @ I 2|
IO H MEiRa we & oEr o=

FEl WX e T SO} 9= g e

6. 3MoTHoARo IW-T% (OMR Answer
Sheet) W %8 1 e & 7@ 399 3 ™
gl oTRdl F WEEFIYES B [ S|

7. e TR b QU qeelt we e
N I OMR Answer Sheet SUwe H

% 9 & Tl B A TR S gl
T A FeT-GRAH o ST T o

8. fitfea mfes =& B

9. @B A W FE, UH-IRGH b, W-F &
fT U @l 379X &1 fehEr ST e

10.  OET- 7 -, IRy, TOR T Hega
B & ST T SHH SUAN HET il Bl

1. U9 % ol UG 3Tl @qraxer § f=iar 8

B SN H U H SIS WAWRI & A
B
AP IFYRAE G W YgEd: e #
@ & % urgRaw 3 @@ g wEMTT BT
gC ¢ Ak gsmgfaa F #is HW e, @
HHAEE H RErHy SH S #BogEd
IFYRAEH I H A



